BRHEETEFOMSEREER GEREXLF1—L4) 1/8
REHR - FR28FESH1H (H) ~FRi28FE5831H (KX) (BAQT @ A" 9LIb/kg)
=1 — = o ®R&ER X RHRRESET
=o yabaslly) mB FREHD 58) tymh134+137 (b994136+137)
(EES wh7 BB LT AHRET 31H (N) ESE 7.6
R EES FPAINZAX  |EILUTHSETHE#E | 68 (%) T 6.1
EREEES FPANSAZX BT EHE] 23H(B) ESE 16.4
EES 7 ZANSAX BT HAIEET 68 (£) NS 7.6
5 [HE P INEES ERLL T =FEHBTJIE [ 115 (k) NS 9.4
6 |Fx 14 F3 BB LI T AHET 248 (N) NS 8.0
[REES 14 F 3 £81L T HA0 BT 26H (K) A& 13.1
8 |BHx Ivv0Ovk 81 L =#EHHET)IIH | 10H CX) A& 9.2
9 [FE H7 — At 21H (&) ESEE 9.0
10 [BE BE» EBLLI T A HET 19H (K) T 10.5
(EES BE» EBLLI T AHIET 248 (N) T 11.9
(P EES BTP a8l 20H (&) ESEE 13.9
13 |83 BT N N 21H (&) ESEE 12.2
(MG ES BE» — AT 30H(B) T 7.3
(FEES FrRY LT 2B(B) T 11.2
AEES FrRY EBLLI T A HET 2B(B) T 11.0
EES FrRY EBLLI T A HET 2B(B) T 9.0
FEES FrRY EBLLI T AHIET 68 (£) T 13.3
EEES FrRY BB LI T AHIET 23H(8) A& 9.2
20 [ FrRY ESLLTHAETIIE [ 30H(8) NS 9.5
IREES FrRY 8L Lh = FHET 12H(R) NS 13.3
YREES FrRY BT H AN BT 2H(B) NS 7.4
RN EES F NV 81 L =4EHHET)IIH | 10H CX) A& 9.1
YA EES Ox5F+ B BT ES 2H(8) A& 13.7
25 B 7)) —vE—X B =#HET)IIH | 26H (&) A& 10.0
26 [FF YAV 5y [BLUGEAENERER] 208 (£) T 16.0
IR EES PR LT EAHTERER | 25H (7K) A& 14.1
IEES YPIVRY  [ERLH AR 18H (7k) T 11.2
I EES YYIVRD EB LI AHEET 23H(8) A& 10.6
30 [FE YPIVRY  [BLUHRHENEEE  [306(B) NS 15.3
31 [FE YPIVRY  [ERLH=HE 95 (B) T 10.9
32 B EVE V] N N 21H(2) IS 17.8
CEESES AN NGEN 23H(A) NS 10.1
3k [FE 2+ v 7TV RO |BILTARHE] 16H(B) NS 10.3
I ESES 2+ v 7TV R BT ARHE] 18H (k) & 12.3
36 [BP 2w 7TV R Y| BB AHEHET 20H(£) IS 12.2
T EES 27y 7TV RY|BILH=FEHEET#ELL | 135 (£) NS 8.4
38 [FE U (zn) KEEIMTH 68 (£) & 12.8
39 [Fp VEESS BB LT AHEET 31H(N) IS 7.8
40 [ ERt=V BB LT AT 18H (k) NS 8.4
NIEES ERt=V BB LT AHEET 30H(B) NS 9.0
YR ES ERNESs BB LT AHEET 16H(8) IS 7.2
R EES ERESs BB LT AHEET 30H(H) IS 6.2
M EES ERESs BB LT AHEET 30H(H) IS 6.5
N EES HN KT EBLUHEAHITEHEE| 19H (OK) AR 10.0
46 [B3 ERNES: EBLUTHNBEIEE | 30H(8) IS 7.8
NREES eSS LT HANEESE | 31H(KX) T 6.0
EES eSS 8L =FEHATJIIHE | 18H (k) & 7.6
CIEES eSS a8)lm 195 (R) & 12.3
50 [¥F% EXF ESLLTHHMNBEIS!E | 30H(B) NS 12.1
51 [B% =5 LR BT ER 2H(H) & 12.1
52 [BE =5 BB LT AHEET 17H(N) 32.8 9.2
53 [BE =5 8L RARY 24H(N) & 14.3
A EES ) BB\ HAN AT 95 (H) & 8.6
S EES I\NYASA Y [ELUTHEMNETIIE | 30H(8) NS 11.7
56 [FFx E¥IVE —AWTH 278 (&) & 13.1
YEES SYN BB LT AHEET 2H(B) & 13.3
58 [FE JLIN—T BB HF0EE] 19H (K) & 8.8
59 [BE R EBLL T AT 25H (7K) T 11.7
60 [FF R ERLTHAETIIE [ 306H(8) T 11.0
61 |k ik Bz K@K =BE™ 13H () AR 7.9
62 |k GiEk. BEAk®) [EIK LLhEvEllZF5 | 11H0K) AR 8.8
63 |k ik, B=A®) |BIK LT EmE] 6H (£) A& 8.7

X BRHERFERE L

“THRE” ERTo

SEFEE - EBLL



BRHEETEFOMSEREER GEREXLF1—L4) 2/8
RERM : FR28E581H (B) ~FRE28FE5831H (KN) (BT 1 A 9Llb/kg)
=1 — = o ®R&ER X RHRRESET

= | P73V i E PREXHS (58) €79k 364137 (£94134+137)

6L | GiEk. BEk=E) |BIK ESLLAEREDTA | 10HCK) NS 8.6
FNERER M ALY ELINT 16H(8) 31.0 9.9
66 [ -FTDCFE|MAXRDF RGN 6H (&) 56.9 15.4
67 [IUFE-ZFDC ﬁi{ﬂhﬁf EGINT 16H(8) 19.7 8.6
68 [ -FDCFH[IXFTF BT HREI EAFH| 305 (8) 17.9 16.8
69 [ - ﬂé@:iﬁ 1XRTF B8R ea 1CHT 16H (B) ESE 15.6
0 [IIFE-TOCHE|AXRTS BB EREE 1R T (=13 16.4 9.9
HNERERRME AP RGN 16H (B) ESEE 7.2
72 [ -FQZFE[OF E ] 19H (R) T 11.3
73 [ -FQZFE[OF NBERE LAY 18H (7k) T 5.9
7h I FQZFE[OF LR EVERTAEE | 23H(A) T 8.1
75 IE-=DCFE|OR 8L iR mT 7o 6H (&) A& 16.3
76 |- FDQZFE[DF 2B LI iAma BT hEY 95 (B) NS 9.7
77 [ -FQZFE[OF BLmEITREE  [308(8) T 10.3
78 [ -FDQZFE[DF LT HIMHE =2 | 135H(2) T 6.8
79 [ -FQOZFE[OF HA™ 95 (B) T 10.3
80 [IIZ-FDZFE[TF WEEB) A+ 95 (B) T 11.0
81 [ -FDZFE[TF P2l H B 2B(B) T 9.8
82 [II-FDZFE[TF R ER A | ] 18H (7k) 13.6 11.3
83 [IEX-=DZFE|UR B8R e O] 23H(B) ISR 5.9
84 [IIEE-=DZFE|UR B8R e O] 30H(B) 40.6 11.2
85 [IZE-FDZFE[TF R ER A | L] 30H(8) 8.7 7.7
86 [l -FnC¥ vh(F) AlllEA) 8] 95 (B) T 10.5
87 [l -=EDC% K (zn) R ER A | O] 95 (H) NS 8.6
88 [IZK-=DCH 7»4 £81LI s Ea T 12H (K) A& 14.6
89 [ILE-FncFE[VILT B LmEITREE  [308(8) T 18.7
90 (lLE-FTnZFE|IILT EB LI AT 6H (&) A& 10.3
91 [ILE-FncFE[VILT 8L SR FHET 13H (£) ISR 14.8
2 [IE -F0ZFE[JILT =IHEFEEILGZE [ 138 (&) T 12.3
93 [ILE-FncFE[VILT A= 20H(£) 33.1 18.3
94, (IR -=DZFE|[DTINZVD e BEMEET 16H (B) ISR 7.4
95 |l -FTOCFE|DTVINZIVD LTS B AFE| 30H(8) A& 13.0
EINERERM APPSR L 23H(A) NS 15.8
EINERERM AP =S 16H (B) 43.9 15.1
98 [UE -FnFE[DIUNZIVD  |[EmMEEEE 16H (B) 11.9 11.6
9 [UE -F02FE[DDUNZIVD  |EmMEEERE 30H(H) IS 7.3
100 [ILE - D2 [voNzvy &) (BLmEEnZHS | 168(8) A& 10.2
101 [ -E0cHE |[FE=-V=7> BN ] 16H (B) 20.0 10.2
IV ANERERHAAEEE ESES a0 2H(B) IS 1.7
103 [l - = [23= RGN 6H (&) 15.9 13.8
106 [ - = |23 RGN 16H(8) IS 11.5
105 [ - = |33 NoBERE L LIET 6H (&) 38.2 15.8
106 [ - = |23 BB LT iAra T 6H (&) 18.7 14.1
107 [LIEE-FcE |03 BB LU 4 ma BT SR EF 2H(H) NS 12.9
108 [ - =2 |33 78 AR R IRE] 2H(H) NS 12.2
109 [ - =223 EaEal R BH] 2H(H) & 12.4
110 [ - 2|33 B8R e O] 2H(H) T 12.7
(INMERERMHEAIEEE B8R e O] 68 (£) 8.6 7.6
112 [ -2 [33= B8R e O] 68 (£) & 9.8
113 [IIE-FncE (|03 (@) SR R 68 (£) NS 9.4
M4 [IE-F0cE (2775 e 16H(8) 418.0 14 .4
115 [ -EncE (2775 AoBERE | LIBT 2H(H) 298.2 10.4
116 [LE-=0cE (2775 BB LT Zh EHT 2H(H) 32.0 13.5
M7 [LE-F0cE[2V7T5 BB LT Zh EHT 68 (£) 146.3 9.4
118 [ILIZE - %@:iﬁ a7 TS I ) 2H(H) 417.9 12.8
(IEHNEREI N EP P LT HEER 2H(H) 233.3 10.9
120 Uﬁ-%o) ;E a7 J5 LT HEER 95 (H) 221.3 9.7
IFENERE A EPPE ELLUEANEELE | 2H(B) 183.7 13.9
122 Uﬁ-%wziﬁi V9775 HA ™ 2H(B) 225.8 12.3
123 [LE-TncE |27 TS5 — AT 6H (&) 328.1 13.5
126 [E-T0cE [V 7T5 IR ART 23H(B) 131.9 1.4
125 [ -=ncE |27 75 B8R s e (O] 10H (N) 243.6 13.9
126 [IEE-=cE |07 TS5 B8R s e (O] 16H(8) 368.2 12.6

X RHRFEREE “TRE” ERRo

SEFEEM @ BT



BRHEETEFOMSEREER GEREXLF1—L4) 3/8
REHR - FR28FESH1H (H) ~FRi28FE5831H (KX) (BRI : A 9blb/kg)
B — = o ®R&ER X BERRESE
== AH7>7-3Y mB FREY (58) Y94h134+137 (B794134+137)
127 (I - D2 (2775 (zn) |ERLHEGEET 6H (&) 59.8 8.7
128 [z - EDCFE (2775 (Zn) |[BRmESEERHE 17H (X) 178.3 9.9
129 (-T2 |15 5 EBILTHENBETARII| 2H(B) 22.5 12.3
130 [ -EnCiE|[VFT ELLTERHETZHE | 9H(A) NS 18.2
131 [LE- TR [Ey~T RGN 6H (&) 131.4 11.2
132 [ILE -0 [Ey~T RGN 95 (H) 20.1 15.3
133 [z - S [TV 2EGINT 95 (B) 17.4 15.3
ENNERE R EPEL] LT Zh B H] 28(B) 42.8 13.3
135 (2 - =D [TV A B HEiTEARA|] 2H(H) 14.0 11.7
136 (2= CFE[(¥5 /3 SRS ) 68 (£) T 13.0
137 [ - = cFE|[¥5 /3 SRS ) 6H (&) ESEE 7.6
138 [z - = CFE [(#5 /3 WhEh 30H(B) 11.0 9.9
139 [IzE- = CFE[(¥5 /3 SREIR AT 68 (£) 9.9 6.3
140 [ - =CFE|(¥5 /3 LT 68 (£) 13.2 7.3
14 (- =ncFE[(¥5 /3 LT 68 (£) 25.4 20.8
142 (- =n2FE|(¥5 /3 LT 68 (£) T 8.3
143 (- = cFE|(¥5 /3 LT 95 (B) T 13.6
144 (- = [(¥5 /3 LT 12H (K) 14,4 5.5
145 [ - = CFE[(¥5 /3 8L Z A5 1T 28(B) 278.6 9.0
146 [ = [(¥5 /3 B mhZ 150 2B(B) 21.4 9.8
IYEINEREIRA L= F I e R 6H (&) 58.3 13.1
148 [IIE - =i [F#5 /3 L L 2 ERT £ 6H (&) IS 9.0
149 [z - = CFE [(¥5 /3 BB EERT K| 95 (B) T 7.8
150 [z = [(¥5 /3 EBLmEEITE/Il [ 12B0R) 14.8 6.6
(HINERERAAEL = L L 2 ERT )| 13H (&) A& 9.8
152 [ILIE-=ncFE[#5 /3 EILHEERTE)I [ 168(H) IS 15.1
153 [ILIE-=ncFE[¥5 /O EILHEERTE)I | 168(H) ISR 12.2
15 [IIE-=cFE[¥5 /3 EILHEERTE)I [ 168(8) ISR 10.5
155 [IIZE-=ncFE[¥5 /3 BB LT AHRET 2H(H) 40.6 7.9
156 |lUE =D |H¥5 /3 EB LI AHEET 2H(8) A& 7.4
157 [ILE-=ncFE[¥5 /3 BB LT AHRET 2H(H) 8.5 7.1
158 [ - [~/ BB LT AHEET 2H(H) 10.0 9.1
159 [ - EncFE [~/ BB LT AT 6H (&) IS 9.8
160 [IIZE- T |([F7 /D BB LT AT 6H (&) IS 11.6
161 |2 - ECFE |7/ BB LT AT 13H(®) & 11.8
162 |2 - S (7 /D BB LT AHEET 138 (&) 13.7 7.3
163 |2 - S [F7 /D BB LT AT 21H(2) L 11.2
164 2 - T (7 /D BB LT AT 30H(8) IS 8.5
165 [IIZE- i [F7 /D B =S XA HE] 138 (&) 10.2 7.9
166 |32 - =D (7 /D BUHEXAHAEECR] 105 (K) 10.6 7.6
167 |2 - EDCFE([F7 /D EBLLI AR AT 19H (K) IS 9.0
168 |2 - EnCFE[F7 /D I =E=: ] 23H(A) T 8.4
169 2 - EnCFE |7/ BLUHEHNTTEE 6H (&) IS 8.8
170 [ - T i [F#7 /D BLUHHEHNETER [138(®) IS 11.8
17 [ -0 [F5 /3 ELLTHMNETER | 13H(®) ISy 15.2
172 [ - =02 |45 /3 ESLLUTEHMETLS [ 13H(R) & 12.9
173 [ - =245 /3 LU EANEELE | 2H(B) T 7.8
174 Ik -=0cHE (¥~ /3 LU EANEELE | 2H(B) 9.7 5.3
175 Ik - =2 (¥~ /3 LU EANEHELE | 2H(B) 14.5 5.5
176 [ - S i [~/ BB AT BT E 2H(H) NS 8.3
177 -0 [¥7 /3 BT HAMETHE [ 1150K) 43.8 4.8
178 [l - =2 [F5 /3 BRI LT EHATETECH [ 235 (B) NS 10.2
179 [ - =2 [F5 /3 1L R EHET 2H(H) 17.6 6.7
180 [LIZR- T3 |[H45 /3 AL R EHET 11H (k) AR 10.5
181 [ -EncF |7/ BLUHHHITSE 2H(H) 43.9 5.5
182 [ - =2 [F5 /3 EBLUTFHITSE | 24HCK) & 13.0
183 [l - = [F5 /3 S LB | 16H(B) 12.7 9.8
18 [ =[5 /3 BT FaEH AT 6H (&) 50.0 9.3
185 [ - = [F5 /3 ER LT Fa AT 6H (£) A& 8.2
186 [ - =[5 /3 BT FaEH AT 95 (H) 105. 4 9.7
187 (LR -ZEncFE (5 /3 LU PAEHBTRAEH | 19H (OK) 490.3 9.4
188 [l - =[5 /3 ELLHAEAEIAR [ 17THCK) 29.0 9.1
189 [l - = [F5 /3 B LT FeHBTAMER | 2H(B) 230.6 7.4
¥ RERREXREE “FTRE” SRR EfEER - B



BRHEETEFOMSEREER GEREXLF1—L4) 4/8
REHR - FR28FESH1H (H) ~FRi28FE5831H (KX) (BT 1 A 9Llb/kg)
B — o o ®R&ER X BERRESE

== AH7>7-3Y mB FREY (58) Y94h134+137 (bY94134+137)

190 IR - =D |H5 /3 811 HA0 BT 9IH(8) A& 9.8
191 IR -FDCFE|H5 /3 8L HAOERET 25H (7k) A& 7.5
192 IR - =D |45 /3 8L HANERET 25H (7k) A& 7.9
193 [IIE-FTDC ¢E S/ 8L HADERET 30H(A8) A& 5.3
194 [lUZ-=DcFE (¥ /3 8L HADERET 31H(N) 30.0 10.7
195 Mi-ngﬁ-97/: 8L HADEET#ER [ 118 (k) NS 13.8
19 [ILIE-=0cfE([¥5 /3 B8 L HADHET#R [ 188 (k) A& 21.7
197 [l -FcFE |5/ L L HAOEETAE)R | 315 () A& 8.9
198 [z - = |(¥5 /3 BLUmBEMHETSE | 2H(A) 8.3 6.5
199 [IZE-=ncFE|(¥5 /3 LT HIHEE =2 | 106 (KX) 141 8.8
200 (2 - = CFE[(¥5 /3 LT HIHEE =2 | 106 (KX) T 9.9
200 [z - = cFE|(¥5 /3 ELHmBEFEENATE]| 6H(2) 14.6 7.2
202 [IzE - = |(¥5 /3 BLHBEFEENATE]| 95(8) 11.1 7.6
e NERER = LU= A LLB] 95 (B) 20.8 7.1
206 [z - =[5 /3 BB\ LITh =FEHE] 68 (£) 71.9 10.6
205 [z - = [(#5 /3 BB LITh =FEHE] 68 (£) 30.2 12.4
206 [z - = CEE[(#5 /3 BB LITh =FEHE] 268 (K) T 11.1
207 [z - = cFE|[¥5 /3 B =FHETILO [ 135 (2) 8.9 7.0
208 [z - = [(#5 /3 Ag|llhm 2H(A) ES 1.4
200 [ -ECcFE[(¥5 /3 a8)llm 95 (H) NS 8.5
210 [ - = [F5 /3 a8)lm 95 (H) NS 144
211 [ILIE - = cFE [#5 /3 a8l 16H (B) 82.9 6.3
212 [ - = cFE [(¥5 /3 a8)llm 18H (7k) 19.3 10.2
AERNEREIR L= A8 =FH] 2H(8) A& 11.3
214 [z - = CFE [(¥5 /3 HAE =&FH] 2H(B) 34.8 12.2
215 [z - = cFE [(¥5 /3 HAE =&FH] 2H(B) 33.6 13.2
216 [z - = (¥5 ./ 3 HAE =&FH] 2H(B) 44,9 11.3
217 [ - = cFE [(¥5 /3 HAE =&FH] 2H(B) 18.9 13.3
218 [z - = [(¥5 /3 HAE =&FH] 2H(B) 53.3 14.0
219 [z - = cFE[(¥5 /3 HANE=FH] 2H(B) 36.9 11.3
Y INEREIR L= A8 =FH] 2H(8) A& 8.2
221 [IEE-EncFE (7 /3 HNE=FH] 68 (£) 9.1 9.0
222 |- EnCcFE |7/ A B =&H] 10H (N) 47.8 8.7
223 [ -EncFE[F¥7 /3 HNE=FH] 17H(N) IS 8.9
YINEREIO A= HATER = FH] 30H(H) A& 5.3
225 |- EncFE[F7 /0 HA™ 2H(B) IS 4.5
226 |- EnCFE([F7 /D HA™ 68 (£) 104.7 7.7
227 [LIEE-EncFE |7/ HA™ 68 (£) 18.9 12.4
228 |- i [~ /D HA™ 138 (&) 11.3 8.4
229 [ -EncFE |7/ HARE 13H(£) IS 8.4
230 [IEE-EnCcFE [~/ N N 2H(H) 312.0 9.4
231 [ -EncFE[¥7 /3 N N 11H (k) 53.3 10.7
232 [ -=0cfE[F5 /3 N N 16H (B) 81.5 11.2
233 [l -=0cfE[F5 /3 N N 16H (B) 29.4 11.5
23 [l -=ncfE |45 ./3 i~ /N 16H(8) NS 8.8
235 [ -2 [F5 /3 N /N 16H(8) 205.1 7.4
236 [ -=0cE[F5 /3 N /N 23H(B) T 6.6
237 [ - =[5 /3 BE™ 2H(H) 21.0 7.8
238 [l -=cE[F5 /3 EtEET 6H (&) IS 9.2
239 [ - [F5 /3 EtEET 6H (&) EN 6.1
ONERERR A= =iREFEEILEE] | 138 (£) 17.3 7.2
ANNERER A= A= 10H (N) 8.8 8.6
202 - =[5 /3 (Gn) [&IIEE]INE] 2H(H) & 13.3
283 [l - =[5 /3 Gn) [AIIEE]IE] 95 (H) & 12.0
244 Uﬁ-%@:iﬁ &4/ (zn) [AllEA]E] 10H (N) NS 11.4
245 [ - =[5 /3 Gn) [AIEEINN 16H(8) & 6.9
246 uﬁ-gw iﬁ 4 /3 (zn) |[AllBE 23H(H) 11.0 6.7
247 [ - =[5 /3 (Gn) Bl 2H(B) A& 9.8
248 M§-%®:ﬁ'97/:(ﬁ) 8L 95 (H) A& 7.2
249 [l - =[5 /3 (Z) B 108 (X) A& 7.6
250 [l -FocFE |~/ (zn) |[BLUT 11H (k) AR 7.5
251 [ - =[5 /3 (Gn) [Elm 16H(8) 7.5 6.4
252 [ - =0cHE (45 /3 (Gh) |[BlUmh%ian 6H (&) A& 11.1

X RHRFEREE “TRE” ERRo

SEFEEM @ BT



BREETRFOMNERERER GHRIEXL 1 —L4)
REHME : FRR28F5H18 (B) ~Fri28F58318 (X)

5/8

(B4 : A 9lk/kg)

=1 — = o ®R&ER X RHRRESET

== AH7>7-3Y mB FREY (58) Y94h134+137 (B794134+137)

253 [l -=0cE[F45 /3 (Zn) [BlLmEVER]T 95 (B) NS 6.9
254 IR -ZF2F|(F7 /3 (Gn) |BLUMmEGEBRTREE | 12HCK) T 10.7
255 [l - = [(H4 /3 (Zn) |BBLUTE#EETIAN [ 11HOK) NS 9.7
256 [l - EQCFE[(H4 /3 (Zn) |BBLUTEREBTZHE [ 26H (X) NS 8.3
257 [IUxE -FcfE (¥4 /3 (zn) B EFEEZHE [ 25H (k) A& 10.9
258 [l - = [(H4 /3 (Zn) |BBLUTHEEETZHE [ 30H(8) NS 12.6
259 [l - =[5 /3 (@) [BBLmAHHE]T 2B (B) T 10.0
260 [l - =[5 /3 (@) [BBLmAHHE] 2B(B) T 9.3
261 [l -=0cE[F5 /3 (@) [BBILmAHHE] 68 (£) 13.6 8.6
262 [ -=0cFE |55 /3 (@) [BBILmAHHE] 68 (£) T 8.6
263 |IUE =3 (¥4 /0 (Zn) |BBILHAHHE] 10H (N) ESEE 7.5
26 |IUFE - =2 (¥4 /0 (Zn) |BRILHAHE] 17H (N) ESEE 9.2
265 I -=ncfE |55 /3 (zZn) [ERLTH=EAHE] 68 (£) 12.4 9.4
266 (U -Z=0CcEE (45 /3 (Zn) |EBIUTHENET 28(B) 17.5 9.7
267 (U -Z0cE (45 /3 (Zn) |EBBIUTHEMNET 2B(B) 53.2 6.9
268 |IUE = (¥4 /0 (Zn) |BRILmENE 13H (£) ESEE 8.5
269 [IIEE-EnCcFE (A7 /0 (Zn) [ESLLUTHHENE 16H(B) T 16.5
2710 [ - EncFE (A7 /0 (Zn) [BSLTHNEER 95 (B) T 7.6
211 [l - =[5 /3 (Zn) |BBIUTHHENBEIFERR [ 30H(8) A& 8.2
2712 [IUE -ZTncfE (¥4 /3 (zn) [BLUHHENETEE]I | 6H(E) A& 5.8
273 [IIEE-En i ([F#7 /0 (Zn) |[ESILHHE 2H(B) 12.6 5.0
21 [ - =0 cFE [F5 /3 (Zn) BT HET 95 (H) 72.9 7.4
275 [ - =0 cFE [F5 /3 (Gn) B HET 95 (H) 85.2 11.1
276 [ - =0 cE [F5 /3 (Zn) BRI HET 16H (B) 12.0 11.4
2717 [ - ZEncE (45 /3 (Zn) |BBIUTHhhEE] 18H (7k) T 8.3
2718 |[IUxE - =pcfE (¥4 /3 (zn) |[BLmSHEETGE]] [ 16H(B) IS 10.5
219 [ - =0 cfE |5 /3 (Zn) BT HE 2H(B) 14.2 7.2
280 |[IUE = [~#4 /0 (Zn) |BRLmFaHEE] 12H (K) ISR 7.9
281 [ILE =2 [(»¥4 /0 (Zn) |ERLmFaEE] 30H(B) 40.2 7.9
282 [l -=cFE (A4 /3 (Zn) BT HANEHE] 2H(H) 11.3 6.2
283 [l -=cFE[H4 /3 (Zn) BT EHFANEHE] 95 (H) ISR 5.1
284 IIEE-=ncfE |55 /3 (Zn) [ERILTEHINEE 11H (k) 12.2 1.4
285 |IIX-FcfE |57 /3 (Gn) |BUTmHMEBEEISE ]| 9H(A) 103.3 6.8
286 | -T2 |47 /3 (Gn) |BSUTHMEBEESE ]| 9HA) NS 5.4
287 I -FcE |47 /3 (GZn) BT HMEARSE | 18H0K) 14.3 7.7
288 [LEE-EnciE |57/ (Zn) |BLm=EALLA 95 (H) 30.0 9.9
280 |2 -=ncE (A5 /3 (zn) |EBILTm=12MHE] 95 (8) NS 8.6
290 [ - =0 [F5 /0 (Zn) [BRLm=1EHEIAS [ 16H(B) & 8.4
291 [LE-=cfE |55 /3 (Zn) [BRLm=FEELO] 268(8) NS 10.1
292 [LE-=cfE |55 /3 (Zn) [BRLm=FEELO] 95(8) NS 8.5
293 [lUFE -=cFE (4 /3 (Zn) |BIUT=FMEETL0O [ 135 (&) 9.9 9.2
294 IR -=cFE |55 /3 (Zn) [BRLUm=F#HEETLO [ 195 (CK) NS 14.3
295 [ -=0cfE |5 /3 Gn) [BE]lH 2H(H) NS 11.5
296 [z -=0cfE |45 /3 Gn) [BE]lH 11H (k) NS 10.1
297 [LEE-EnciE([F7 /0 (Zn) |ENE=FH 2H(H) NS 10.7
298 - =[5/ (Zn) |ENE=FN 68 (£) 15.2 9.5
299 [ -EnciE (7 /0 (Zn) |ENE=FN 93 (H) 23.6 9.6
300 [IEE-EnciE (A5 /0 (Zn) |ENE=FN 11H (k) 35.4 6.7
301 [ -FnciE (7 /0 (Zn) |ENE=FN 12H(R) & 8.2
302 [ -FnciE (57 /0 (Zn) |ENE=FH 12H (K) 14,2 9.3
303 [ -FnciE (A7 /0 (Zn) |ENE=FN 138 (&) 39.3 11.5
306 [ -Enci (A5 /0 (Zn) |ENE=FN 16H(8) 12.6 9.3
305 [IEE- =[5 /3 (@) |HNmM 93 (H) 8.7 6.2
306 [ - =[5 /3 (Zn) |[HNmM 95 (H) & 10.9
307 [ - =[5 /3 Gn) |[Z&HRm 2H(H) 7.4 7.0
308 [ =[5 /3 (@) |[Z&HWm 2H(H) 104.3 7.6
309 [ - =[5 /3 (@) |[Z&Hm 12H (K) 26.4 10.2
310 2 - S cFE[F5 /3 (@) |[Z&HTH 208 (£) 22.0 6.5
31 [ - =025 /3 (@) [REm 16H(B) T 11.8
312 [ - =[5 /3 (&) [REm 16H(8) 11.0 9.3
313 [ - = cFE[F57 /3 @) |[=HE 30H(B) T 6.4
3Nt [IIE-FDcHE|FF /3 &n) [EREFERAGH | 13H(&E) T 8.3
315 [ - =i (#5770 (Zn) [EWEBRAT 2H(B) 10.3 6.0
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316 [l -=0cE[F5 /3 (@) [A=Em 95 (B) NS 9.0
317 [l - =0 cE (45 /3 (Zn) |[BRmEfEmfHE 30H(B) 53.0 9.5
318 [z - =[S/ X =EMA 2H(H) NS 9.0
319 [z - EDCFE[FS /X EGINT 68 (£) NS 16.2
30 [z - T[S/ X EGINT 95 (B) 19.9 10.1
21 - EDFE[FS /X AlllEA) 8] 2H(H) NS 14.5
32 [z - EDCFE[FS /X BB LI A EH] 28(B) 14.7 11.7
323 [z - EDCFE[FS /X LR BT ERS 2H(H) T 15.3
24 (- EDCFE[FS /X I 28(B) 27.6 12.3
325 (2 - EDCE[FS /X EBLL 7 5 e BT P EF 28(B) 39.6 13.0
326 [z - =[S/ X BLUmiEIIRRE [ 135(®) 32.3 8.4
27 [ - EDCFE[FS /X LT N TS 1E 2H(A) NS 12.9
328 [z - EDCE[FS /X BLUTHENETHE® | 2H(A) NS 12.4
329 [z - EDCE[FS /X HA™ 28(B) 305.0 11.5
330 [IZE-EDCE[FS /X HA™ 68 (£) 17.9 14.6
331 [ -EDCE[FS /X HA™ 95 (B) T 11.3
32 [ -EDCE[FS /X A 2 a0 N 16H(B) 33.6 9.7
333 [z -EDCE[FS /X R ER S | T 2H(A) T 12.7
33% [ -=EDCHE[FS /X R ER A | ] 2H(B) A& 13.3
335 [ =DCE[FS /X R ER A m ] 2B(B) 48.9 14.0
33 [ =DCHE|(FS /X R ER A | O] 68 (£) 28.2 11.6
337 [z - =DCE (S5 / X R ER A | L] 16H(B) 29.3 12.0
338 [ -=0CFEH[FS5 /X (Zn) [BmEEEHE 17H(N) 32.1 9.4
B MNERE R AP ERE G a0 6H (&) 43.7 13.5
3,0 (IR - =D [FA1E a8l 13H (£) ISR 19.9
31 [ - T (xYAVSST  [BLGEGER R0 [ 12H0R) T 7.9
32 [l - =0 [xYAUSS BT AT 16H(H) NS 7.5
343 |IUE - =D (Y AUSS  |BRLmAEE] 23H(B) 16.3 8.8
364 (I -FTDCFE|RNYAUST LT S AFE| 30H(8) A& 8.8
355 IR - T (xYAVUSYT  [BLUTH=EIRRE | 135(R) NS 16.9
346 [ - SO [XVYAUSST  |[ZHRH 23H(B) 18.8 11.5
3457 [ - SO CHE [RYAUSS [BRmEEEHE 16H(8) 16.7 11.1
348 |IUE - DR [V AUSS |EEmMEREmHE] 20H(£) IS 8.1
389 [ - SO CHE [RVYAUSYS [BRmEEmfHE 23H(B) 27.3 7.6
350 [ - EOCHE [RYAUSYS [BRmEEmfHE 30H(H) 110.1 7.6
351 (32« EDCEE |=~AUST (E) |ESMEREEICE] 31H(N) 84.9 9.6
352 |- [\UFD IR AKRT 23H(B) NS 15.1
353 |- |[N\NUXY (Zn) |[ERmMEREERHE] 13H(2) & 13.1
E I NERE R AN EPPEREREEE SN 6H (£) IS 16.4
355 [ ([/\vdvVD  |ELmHEIEARE]| 306 (B) IS 9.6
I NERE A PES 2EEINT 68 (£) NS 1.4
N INERED R A PES RGN 16H(8) IS 9.0
358 [ -=ncFE|[7+ BRI EERT K| 95 (H) NS 18.1
e NERE R A PES EILUTHEERTE)II [ 12H(X) IS 5.8
360 [IIZR-=nciE [T+ ELLHEERT R | 12HCK) NS 13.3
361 IR -=DCFE[TF ELHEERTRIL [ 19H(K) & 19.4
362 [IIZE-=DCFE[TF EBLLTH S 13 HH] 24H(N) T 9.5
363 [ -=DCcFE [T+ B E#ETZHE [ 18H () & 8.7
364 [IIEE-=DCFE[TF BB LT AT 6H (&) & 8.2
365 IR -=nCciE [T+ BB LT AHEET 68 (£) NS 11.2
366 [IIZE-=DCiE [T+ BB LT AHEET 93 (H) & 10.8
367 [IIEE-=DCFE[TF BB LT AT 19H (°K) NS 8.5
368 [IIZE-=DCciE[TF BB LT AHEET 208 (£) & 10.5
369 [IIEE-=nCiE [T+ BB LT AHEET 23H(A) & 11.1
370 I -=nciE [T+ BB LT AHEET 24H(N) NS 12.1
37 [IE-=nciE [T+ 8L RARY 23H(A) & 15.8
372 [ -=nciE [T+ ST = A HH] 6H (£) & 12.2
373 [ -=ncFE [T+ BLUHEXAEECRN] 95 (B) & 11.6
37 I -=CFE [T+ BLUHEXAAEER] 105 (K) T 8.1
375 [ -=ncfE [T+ R i ra Bl R 6H (£) T 11.1
376 [ -=CFE [T+ BRILThBmBThE [ 23H(B) T 10.9
377 [IE-=CFE [T+ L HEITEAFR] 305H(8) T 14.6
378 [ -=nCFE [T+ LT HElERE | 30H(B) T 7.2
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379 [l - =0 |7+ BLUmEITREE  [308(8) NS 14.8
380 [z -=CFE [T+ ELTHNETESR [ 13H(R) T 14.2
ENERE R APES BB AT RT LU 2B (B) NS 10.2
382 [l -=0cFE [T+ BT HMNETAEE | 23H(B) NS 13.5
RN ERE A PES 8L R EHET 13H (£) ESE 11.1
I NERE AL BB IE 19H (K) NS 10.4
385 [z -=CcFE [T+ EBLL A0 ERET 11H (k) T 11.9
386 [IIZE-=DCFE [T+ LT HIHEE =2 [ 17TH(KX) T 13.5
387 [LEE - |7+ BB BEAMEE AT B[ 12HCR) T 7.0
388 [IIZE-=CcFE [T+ ag)lm 30H(B) T 8.9
L ENERE A PES FEmh 16H (B) ESEE 10.9
I NERER A PE: BE™ 248 (N) NS 7.6
391 [l -=0cFE [T+ EtEEm 25H (7k) 99.8 16.5
PN ERED N A PES B8R e 1O 30H(B) ESEE 10.0
EENERE R APENE ) EBL LT EHABTFERA [ 30H(8) T 9.2
39 [ILE-=ncFE[7F (z7n) 8L SR FHET 17H (N) ESEE 11.3
S NERE R APENE ) 8L BT 1] | 20H (£) T 8.9
396 [IIE-=ncFE[7F (z7n) a8l 17H (N) ESEE 7.6
397 (- =02 |7+ (@n) HA A =&FH] 68 (£) A& 9.9
398 [z -=CFE [7+ (7n) HAE =&FH] 26H () NS 8.0
399 [[IEZ-=ncFE[7F (Zn) HA ™ 20H(£) 22.7 10.9
400 [ -Z0 2 [7F (7n) N N 23H(B) IS 10.6
401 ILE-ZF0cE|[7F (@) WEEEB) AT 95 (B) T 11.9
402 ILE-Z0cE|[7F (@) R ER A | O] 206 (£) 20.4 8.9
403 I - T [R—AST 1V 1 |EEE 16H(H) ISR 10.5
404 (- ZEDCHE|(YHYIE 2EGINT 16H(B) 39.9 12.9
MENERERM AFEE]S LB hE | 23H(B) ISR 9.7
406 IR - FOCH[(ZPYAIS0T [BRUMmEBEITZHE | 2H(B) 10.1 9.5
407 Iz - =0 cE [ v~1 > oY [BRLTh AT 2H(H) 87.6 11.4
408 [ILE - T[S VPV1S 0T BT HEEIRE [ 18H(K) NS 10.4
409 LI -FOCHE (= PYAS0Y B HmEITRR 6H (&) 15.0 10.0
410 [ - EDCHE|[ESIAY 2EEINT 68 (£) NS 13.5
11 [E-EDCHE|[ESIAY 8L 95 (H) NS 15.8
412 (- EDCHE |[ESIAY ELLUTiBmBT e [ 13H(2) NS 8.8
413 [E-EDCHE |[ESIAY ESLLThiAma BT hEy [ 18H (9K) & 8.7
b [IE-EDCHE|[ESIAY LA ER 2H(H) 19.5 13.0
415 [ - EDCHE |[ESIAY 8L R FHET 95 (H) 21.1 15.9
416 Iz - =[PV TRD B8R e O] 23H(H) 11.1 8.7
417 [ILE - R [TEF K= 17H(X) NS 14.1
AERNERE M AAEREKE ) £ 10H (N) 10.1 6.2
419 [ -0 [UYE 2EEINT 68 (£) NS 15.6
420 [IZE - EDCE [ E (F) ESLLThiAma BT hEy [ 18H (k) NS 11.3
421 I -0 [DUSE SEMA 95 (H) NS 15.2
422 (-0 [DUSE SEMA 16H(8) 33.2 8.0
423 [ -0 [DUSE SEEINT 68 (£) 36.4 11.2
YRR :AAPEIS SEEINT 93 (H) & 20.7
425 (-0 [U3E SEEINT 16H(8) 15.2 10.6
426 [ -ZEDZFE[DUSE SEEINT 31H(N) & 10.1
427 [ -0 [DUSE AlIERE] 14 23H(A) & 11.0
428 [ -2 [DUSE WhEth 2H(H) NS 8.6
429 (-0 [DUSE e 16H(8) 63.7 8.9
430 [ -ZE02FE[DUSE S BRI ER] 68 (£) NS 7.0
431 [ -0 [USE 8L 24 (N) 97.8 10.5
432 -0 [USE ELHEERTRIL [ 12HCK) & 12.9
433 [ -0 [USE I ) 2H(H) 10.0 10.0
43k (-0 [DUSE LT HEER 95 (H) 31.6 5.5
435 [ -0 [USE BLUmAEIER | 135(2) 6.9 5.5
436 (- [DUSE LT HElERE [ 30H(B) & 16.0
437 [ -0 [DUSE LU AmiIER | 23H(8) T 10.0
438 [ -2 [DUSE BB LT EHAEI R | 2H(B) T 12.2
439 (-0 [DUSE Bamh 2H(B) 12.3 9.1
440 (IR -0 [DUSE a8a)llm 2H(B) T 9.3
W1 [IE -0 [DUSE BE™ 2H(B) 146.0 11.0
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i (I - =D [DUSE A= 28l NIE] 16H (B) 15.3 7.4
443 IR - D CFE|[USE A= 68 (£) 48.9 6.0
Ghly, [IIZE - =D [DUSE LR 16H (B) ESE 7.9
445 ILE - ZDCFE|[USE SRR m T 16H(B) 24 .5 10.7
4he IR - ZDCFE|[DUSE B8 ERFE e O] 18H (k) NS 7.6
447 IR -ZDCFE|[DUSE R ERE | T 18H (7k) 50.2 10.8
448 [ILEE - EDCFE|[TUSE S ER S | T 268 (K) 77.6 7.9
449 I - EDCFE|[TUSE R ER R | T 30H(B) 117.3 11.3
450 [ILEE -0 CFE|[TUSE R ER S | T 30H(B) 25.0 11.2
451 IR - ZEDCFE|[TUSE B EBEE 1 ] 11H (k) T 9.7
452 [l - =0 cFE (7S5 (GHk) [&FA 16H (B) ESEE 13.7
453 Il - =0 cFE (7S5 (GHk) [&FA 16H (B) ESEE 9.6
454 [IIEE - D (7S (Ktk) [22A 25H (7k) NS 8.5
455 [ILE - 0B [T7S5E (k) [AIIERA]IE] 95 (B) T 8.6
456 [ILEE - T [T7S5E (k) [A]IEREER 95 (B) 16.4 9.5
457 [ILE - B [T7S5E (HR) [A]IEFERERE] 68 (£) 57.4 4.1
458 [ILZE - = |75 (k) [BER 19H (R) T 11.0
459 [ILZE-=0cHE |75 (k) [BER 30H(B) T 8.8
460 (-T2 (7S (tk) BT 68 (£) A& 11.8
461 [IZE - =2 (7S5 (tik) |[BRLLTHraEE] 2B(B) NS 8.5
462 [ILEE - DR [7S5E (KHk) |BRILTEHANEE] 18H (7k) NS 10.1
463 [ILEE - DR [7SE (KHkR) [BBILTR = HHE] 95 (H) NS 9.3
4ot [ILE - =0 cFE TS5 (k) [BILm=fEETLO]| 95 (8) T 14.0
465 [ - =2 (7S5 (tk) BT 68 (£) NS 8.6
466 |[ZE-=DCFE (7SE (tk) BT 95 (B) T 8.4
467 (I - =0 |75 (tik) [BN™ 95 (B) T 10.5
468 [l - DR [T7S5E (IHR) [XERIAN 95 (B) NS 13.1
469 (- =D ([7SE (Ktk) [A=m 2H(H) 13.0 8.9
470 (IR - T [75E (KGHk) [BRmERE R HET 138 (£) 11.2 9.8
471 [ILE - TR [T7S5E (KHR) [ERMEREERHE] 18H (k) NS 11.6
472 [ILEE - TR [TS5E (KHKR) [ERmEREE ] 25H (k) T 12.2
473 [ILE - EDFE[7S5E (KHkR) [ERMEREERE] 30H(8) NS 8.3
474 [ILEE - EDFE[7S5E (KHKR) [ERMEREERHE] 31H(N) 11.1 10.7
475 I - =0 [7S5E (KGHkR) [ERMERERSE] 198 (K) 25.1 7.9
476 (- =2 [JSE (Zn) SRS ) 208 (£) & 7.9
477 [ - =D [USE (Zn) ELTHHNITIEE [ 12HCK) NS 6.8
478 (I - =2 |[JSE (Zn) LR 19H (R) NS 5.3
479 BN EE 7+ 3 INZ RS 23H(B) & 8.4
480 [ER=E T X (5iE) BB LT AHEET 248 (N) NS 6.3
481 [B=E T X (5i) BB LT AHEET 31H(N) NS 8.2
RYEES T X (5i) BB LT ARET 248 (N) 18.5 10.1
483 [B=E oX (§v8) |EZFh 31H(KN) NS 6.7
AAEES o X (5/v8) [BRLUmEAET/NIT [ 315N NS 6.5
485 [EB=E o X (F/vE) BT HFNEE] 21H (£) NS 4.8
486 |Zfib BER Al EBSFH 11H (k) 114.0 8.5
487 |Zfik 2775 (88 [HMEREmGET 138 (&) 66.4 12.3
488 |Zmfih Hovaw () [BUGTEAEECR] 6H(R) 36.7 17.9
489 [Zmfik Hyvyay () |BBILHARE] 31H(N) & 10.2
490 |[Zofik S/ (&8&) |BRLmZEREET 138 (&) 13.1 6.3
491 |[Zofk S/ (EY) |HNE =& 95 (8) NS 13.2
492 |Zofik KOoS=ZVD  [EBILTMBHAEASE | 6H(&) 25.7 15.5
493 [Zofib BODTE LT AmEIERE | 30H(A) NS 13.1
494 |Zfik JZE (88) |Z&WMm 17H(KN) & 10.4
495 [H27TEEX K (%K) HA™ 18H (7k) & 8.7
496 [H27TEEX K (%K) LR 68 (£) NS 8.7
497 [H2TEEX X (BX) HA™ 26H () & 4.9
498 [H2TEREXR H5XK (BXK) BT HRIH] 2H(H) & 8.7
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